
@v
@
o?

@
@?

@o
t1 ? 2i.r
4Qo ! li- r

.lQo
I=

2 ;i.t

14-

2oo =

2i.r
2ir.?
700

?- 2 .ä-' t

i.r?.h
i 'g,, tn. S

V ' 21g,2?.^5 o

2'G .r H

2.if. 3,?2o+ 2i'1,1t'f

T't'l , 7 
"n,2

h

.t

33

V? OE

82.-,

@v @,u
,h
.f

= 6,37.o

,arr.f -h
a4
u .6,17'. g

V 3 63l,38c,.9

(e-3
V=7.,f .1

6st,3s - i.i .r'
€rl ot?,36,-

\, I
n'il

VB

Y3 : S,3 4cn

@
o
V ? ii.r'. h

4ooo = ii. c.l

(1O OO

-

ii. qeh = 75,98.n

0,,,.rliarag:

2C = 2ol^3 -r 2ooorr,,5

=) uon,pt,fl gl ,)'ü/rt %aac|r , qooo.*

@r
@ e=!=S.^ ; G =11 =gc,t

@v
V = ;I. o,s ".g

V = 46tTl cr,
(v = ii.,l ,2?o.5)

(r = 4,Q?c^)

=) d,^ ktf ,"

o

o

.)a=6 ct

=6 5o

3 4So cFr

O =3.ä.r'
-.tSo = 3.ii'r'

\_
| .tl ol'= \r F

r = 3,95"n

U =2i'v
§ = 2i'r
V a 0,8 ,n

( v B 2s ,1e c^o)

uät Suizr v,,aclcn


